KROY—=Z2GERE>

RS Bk [mEe [mm lmme |0 TREE
<3dF % 12R108 (7)K% 12A108 [FHeH [<12.496
oavsa(Ao<sn) 4 12108 |/h&EAH | 12B108|FKE [<12.469
E& = 4 12R108|iL& A+ 12108 | &H [<12.490
EATVRS 4 12108 |AZEH | 12108 |F&H |<12.454
AY= 4 12R108 |m&E+ 12R108 [F&H [<12495
JEVHAAN 4 12R108 |m&E+ 12R108 [F&H [<12455
LALA & 12R108 |m&E+ 12R108 [F&RH [<12.496
7 3 12R108 |M&E+ 12R108 (F&RH [<12.447
2hoEA 3 12R108 |M&E+ 12A108 |F#&H <12.498
2 3 12R108 |M&E+ 12R108 [F&H [<12493
FYRANIL 4 12R108 [iI4& i+ 12R108 [F&H [<12495
RIRD & 12A108 |4 % 128108 | FH&H [<12.443
FTAOFALFF & 128108 ;T4 128108 |THEH |<12.494
AXF & 12R108 ;L4 12A108 |F#&H (<12478
7T & 12R108 ;L4 12A108 |F#&H <12.500
RT7Y & 12B108 ;L4 12R108 [F&H [<12.496
A¥F<o & 12R108 |2+ 12R108 [F&H [<12.496




KROY—=Z2GERE>

RS Bk [mEe [mm lmme |0 TREE
FEA % 12A10H (2[4 12A108 |F#&H <12.500
<3ALA 4 12A108 | 2R+ 12108 | i&H [<12.494
Ve % 12A10H (2 M+ 12A108 |FHaH <12.498
=~ & 12A108 |2+ 12108 | i&H [<12.495
ao4A 4 12A108 |2+ 12R108 [F&RH [<12.496
£S5 4 12A108 | 2R+ 12R108 [F&RH [<12.349
2ALA & 12A108 | 2R+ 12A108 | |<12.451
Y )A4H 4 12R108 |2+ 12A108 | |<12.491
*F7raw d 12R108 |2+ 12R108 |FeH <12.484
R A 4 12R108 |2+ 12R108 |FeH <12.464
AFATS d 12R108 |2+ 12R108 [F&H [<12495
75 A & 12R108 |2+ 12R108 [F&H [<12495
AMEFLA 4 12R108 |2+ 12R108 [F#&H [<12.469
BFIF & 12108 |m&E+ 12R108 [F&H [<12495
SXALA(ZVFTF) & 128108 (EE+ 128108 | FH&H |<12.498
Thh<R & 12108 |E&+ 12R108 [F#&H [<12495
INNTLA(FAZHLA) | & 12108 |E&+ 12R108 |F#&H <12.460




KROY—=Z2GERE>

BiR2 Y 1= gag |0 TRIES
vaygF % 128108 |[E&E+ 12A108 [FH&H [<12.495
TAF A 4 12R108 |mEH+ 12108 | i&H [<12.497
DURIAP 4 12R108 |mEH+ 12108 | i&H [<12.467
77 4 12108 |/h&EAH | 12B108|FKE [<12.497
<73 4 12108 |/M&EAH | 12R108|FHKH [<12485
YFXLIALA & 128108 |73k % 128108 | THEH |<12.448




